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1

titude Test
‘Part (A)

General AwareneSS 50 x 1 = 50 Marks

1.1

1.2

1.3

1.4

| £

1.6

1.7

1.8

.Geography - physical, v.ocxal and economic geography of Nepal and

the World

History, Culture and Social System

1.2.1 Major historical events of the World

1.2.2 Political, economical and socio-cultural aspects of ancient,
medieval and modern Nepalese history

1.2.3 People's Movements for democracy in Nepal

1.2.4 Prevalent religions, culture, ethnicity, language, literature and art
of Nepal

Polity and Governance - constitution, political system. right based

issues and evolution of the Nepalese Administrative System

Economic Development ;

1.4.1 Infrastructure development in Nepal (agriculture, industry, trade,
tourism, transportation, communication, education, health and
electricity) :

1.4.2 The \epalese economic issues relating to planning, mobilization
of resources, growth, development and employment

1.4.3 Nepal's economic interaction with the world

General Issues on sustainable development, environmental ecology,

ecological preservation, bio-diversity, climate change, demography,

‘urbanization, settlement pollution, conservation of natural resources
and national heritage )

Science and Technology
[.6.1 Major scientific discoveries and invention, famous scientists and
their contributions

1.6.2 Impact of science and technology in human life and society
1.6.3 General information of evolution, heredity, health and diseases
International Affairs and International Institutions
1.7.1 Nepal's relations with the SAARC member countries and other
countries such as China, United States of America, United
Kingdom, Russia, France, Germany, Switzerland and Japan
1.7.2 UN System, multilateral arrangements and Nepal
Major Events and Current Affairs of National and International
Importance; such as political, social, cultural, economic, scientific,
sports, books, prizes/rewards, arts, literature and music as wel! as
noted personalities and thinkers
Part (B)

Aptitude Test : 30 x 1 =30 marks

2.1

Verbal reasoning such as series. analogy. classification. coding-
decoding, insert the missing character. common property. matrices,

9



direction and distance sense test, ranking order assertion and reason,
induction, deduction, courses of action, etc
; 6x1 =6 Marks
2.2 Non-verbal reasoning such as series. analogy, classification, Venn
 diagrams, matrices construction of squares and triangle, and figure
formation and analysis, dot situation, water images, mirror images.
embedded figures, etc. 6 x1 =6 Marks
2.3 Quantitative aptitude such as arithmetical reasoning/operation.
percentage, fraction, decimal, ratio, average, loss, profit, date/calendar.

time and work etc 6x1 =6 Marks
2.4 General mental ability, logical reasoning and analytical ability
6 x1 =6 Marks
2.5 Data interpretation - charts; graphs, tables, data sufficiency
6 x1 =6 Marks
Part (C)
3. English Language Competence Test 20x1 =20 Marks
3.1 Comprehension: 5x 1 =3 Marks

Questions will be asked based on the passage given. The questions will try

to accommodate the following areas:-

- Fact finding, Inferential, Core theme, True/false identification. Issues
raised and Language based

3.2 Vocabulary: ' ) 7x 1 =7 Marks

Question will be asked to assess their grasp on the English language

vocabulary. The questions will be of the following nature:-

- Meaning of the words (literal/figurative/contextual), Single word for

expressions, Synonyms/antonyms, Derivatives - and
Homonyms/homophones
3.3 Syntactic ability: 8x1 =8 Marks

Questions will be asked to assess the syntactic ability of the candidates. The

questions will be based on the following categories:-

- Agreement, Tense aspect, Parallel structures, Clause/Modifier,
Conditionals, Phrasal expressions, Shifts (tense. number, person).
Transformations, varieties, Prepositions/conjunctions and Parts of
speech.

---The End---
Note:- This above English Language Competence Test syllabus is devised for
assessing the proficiency of the English language of candidates. With the view
to assess the candidates’ language competence, the syllabus aims:-

- to test the understanding of their language through reading
comprehension

- to map the range of their vocabulary

- to examine their syntactic ability

The nature and standard of questions in English Language Competence Test
will be such that an educated Class XII level person will be able to answer them
without any specialized study.



IR - YIH TF TIHAE AHE T TR ATHG FAAATE Part (A) F
IEFAE UHEEedre 7919a Level I & %0 gfera 7 Level Il & ¥o
gieera T AP geAEe HifaTs |
Table of Specification

Specification Remarks |
Unit | Contents Title No. of Level I Level II
No. items (60%) (40%)
B 6 Level [ &1
1.2 | gfers, wei 7 6 %0 gider
Arafee saw 14 10 7 Level II
1.3 | smaauzfa v omda | 6 F %0
1.4 | e faem 6 gfersTe
1.5 | fem famre, 6 Level I &1
AT %0 gfera
arfefeata .. 7 Level II
1.6 | fawm 7 wiata 6 FT ¥0
1.7 | gwreitga A | 6 e
aqr g 16 10
T/ Hxar
1.8 | wiftgg 7 swviiegm | 8
TEcaET JHATHIIE
HEAT 79T FAEAT
nfafafaes )
Total 50 30 20

Level I Questlons

wmﬁmmaﬁmw——iﬁ

Level II Questions
twwﬁmaﬁghwmmmwhmﬂﬁmnﬁm

TEAHAF FEIF A7 [SH-A5H, ASNHaATSH, @A 3d ¥, FRU T TAH
FER GYAEE, ARl gEarad IYAEs)



 URId U3 - AT JAAASTIDT Sldfoll UReIET

Sample Questions : Paper |
Part (A): General Awarness .

Level I questions
1. =1 I =WivE a1 (Trade winds) F&1 W57 ¢
(A) FETT wTig
(B) 9 &% TE &9
(C) AeAT=2® AT (Atlantic Ocean) TT
(D) #ITHUEH (Tropics) dM= 7 JHA ¥@1 (Equator) T

HAFEHAT TAET FEH A7 HAEE oo, FN FSEHAT GYRTATHAT

!,d

HET 3 ¢
(A) TEA (B) FTEATE!
(C) Axh Yy (D) #FfA
3. FA FHaTATad JEIHT FAAH a9 [Ferar wiews
< (A) EA TR (B) 9HA Y&
(C) Jor g&u (D) THeT AW

4. WWWWWWWTWW&#{W
FA FTAT (AT |

(A) T5=199 HTA (B) 7191 7t
(C)fa—aﬁr?ﬂ?-r (D) FeeA®TeA
5. FOF AFAFA T A qAATE & WA, 7
(A) Efersivamesy (B) Zfeaepra
(C) Bfer=pra (D) EfammsT

Level If questions
6. AAE FUAEE b, T F g FEATIT o |
1. WW&WWWWWWE?
FSE TAT &5 |
2. wrﬁmmm&wwmmwwmmwma

(A)17233 && (B) 1 72%F T
(C) 1 3% T 2 T\ (D) | e a7 2 &%
7. WHE 17 A7 Sirer ferae 7 #Fieare 96l I aieA |

w9 1 T UL

a. Aristotle l.  Theory of surplus value
. b.  Socrates . 2. The politics

¢. Abraham Lincoln 3. Hemlock

d. Karl Marx 4. Slavery System

jo
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1.

#E(Code) a b ¢ d
(A) 4 E- .3 4
(B) ¥ 4" 1.3
(©) 2 3 4. 1.
(D) 1 el S

A9 fZ5U TAET g% 9@ LEAvE Fwr@ UE B | diEdrers qATS

(Assertion) 7 HHATs FWU (Reason) WHUH 3 | Y9AHAT fagus

Statement aT¥ A7 FIeear ATUTTAT % A7 TR |

A% (A):- [Uqed 30 @eA A9T FT, qAARET HEHL AT T

) #rsd DNA Finger Printing U321 9@+ 919+ 89303 |
F (R):— ﬁﬂﬁmmﬁ%,ﬁmmmmm
DNA Analysis %1 @107 997 §78 |

(A)W(A)?W(R)E%MEHTW(R)W(A)W@EF
=1eT (Explanation) & |

(B)W(A)’W(R)ﬁ%ﬁ@m7m(mm(A)?ﬂfﬁﬁ
=qredT (Explanation) g |

(C) #9118 (A) 1% & 7 &0 (R) Tod B

(D) 991% (A) T4 & a7 F70 (R) 31F B

9 SfeAt@d WETAIZET AT & WUH G |

1. =9 Ffasr Fw=dr gaEta :

2. wfeen faeg g7 FF TERH FTHE T qEEAT HErEiA

3. ITEAT 99T 9 F7 AWHATE A1 AINHAAE HAIEN a1 3V [qegEr
TETH

4. TAEE HETHA

IYAITE WETAl AN WU HiAE AaE a@Er 990 B4 w9 96 G
(A) 4-3-2-1 (B) 4-2-3-1

(C) 2-3-4-1 (D) 1-2-3-4

(A) ATfea+d, 92T, 79T, e, qiEear, STareeT, FHEMAEAE, A0
(B) Wera, Hifea+®, 797, AT, AT, ABINAEA, GHFEE, q7A
(C) Aifemsd, S2TH, HT=a, T9H, AR, ST, GiEe, qeA
(D) HTiea™R, q2TH, ATeE, FTATSY, T, ABMAFAT, TFEA, A7
sire faamr (Matchings) 79T %7 9ite SE B 1

TEl e I

a. ATH# (Africa) [. faowaT®r Fer€e (Continent of Extremes)
b. TAY (Europe) 2. AT "eTest (Dark Continent)
c. WIAT (Savana) 3. FEWH @A (Roof of the world)
d. 91fH7 (Pamir) 4. HETTE FEfEAT@ET (Zoo of the world)
5. YTIEI9E®E! 9i UIFEMY (Peninsula of Peninsulas)
(A) a-2.b-1, ¢-3.d-5 (B)a-1,b-5,c-4.d-3
(C) a-2,b-5,¢c-4.d-3 (D) a-1, b-5, ¢-3. d-4

11



12,

Verbal reasoning

L.

frefeias #97es areaT fa=m THEE |

1. gt qEEe giv=Hiar 6w |

2. ot ofyeware @i 9w |

3. qHem Y@TeT qaewar q@ T g |

4. yee § FedT ZemeeEr ¥ THACHl HT BEE UE |
wify Sferfaa Fameear =7 &% &1/ 8 7

. (A) 1,27 3|1 (B)2 Ar9

(C)2,374 A (D)27¥ 3 w1

. Treafafes ®q7es 98 F7 F99 5F 854, -0 |

(A) FATATHIZEATE AIASATIHT [AFTasl JE T /i |

(B) #reife FifeAar FFaTT Fereiare TO@ (4t |

(C) BT TTSTF=eTs aligd HiteT I A7 |

(D) SITATT FAAAT ATIETHT A9 1R9%3-9%Y¥e FEEH AT arer
T T a4 s |

W i &=

1. U ' L. Agricultural Centre (SAC)

2. SIEETRE Il.  Forestry Centre (SFC)

3, = III.  Energy Centre (SEC)

4, e IV. Tuberculosis Centre (STC)

(Codes)
1-111. 2-1V, 3-1, 4-11
4-1, 3-11, 2-TH, 1-IV
34, 2-11, 3111, 4-1V
2-1, 3-11, 4111, 1-1Iv

Part (B)
Sample Questions of Aptitude Test

B =

Find out the alternative which will replace the question mark:

O, T.T:EES SE® :

(A)E (B)N (&1 (D)T

"Reading” is related to "knowledge" in the same way as "Work" is
related to:

(A)Money (B) Engagement (C) Employment (D) Experience
In the following find out the alternative which will replace the question
mark: ‘

Parts : Strap :: Wolf:?

(A) Fox - (B) Animal (C) Flow (D) Wood

If TABLET is coded as UACMET in a certain language, then how is
CAPSULE written in that code?

(A) BAORUKE (B) DAQTUME

(C) BAQRUKE (D) DAOTUME

?



Choose the word which is different from the rest. .

(A) Anger (B) Anxiety (C) Feeling (D) Joy

The houses of A and B face each other on a road going north-south. A's

being on the western side. A comes out of his house, turns left, travels

5m, turns right, travels 12 m to the front of D's house. B does exactly

the same and reaches the front of C's house. In this context, which one

of the following statements is correct? -

(A) Cand D live on the same street.

(B) C's house faces south.

(C) The houses of C and D are less than 30 m apart.

(D) None of the above

If the 1st & 2nd, 3rd & 4th, 5th & 6th and sa on are interchanged in the

A to Zalphabetical series. Then what is the fifteenth number? ;

(A) N ~(B)O ©P (D)Q

Direction: In the following, two statements numbered I and II are

given. There may be cause and effect relationship the two statements.

These two statements  may be the effect of the same cause or _

independent causes. These statements may be independent causes

without having any relationship. Read both the statements and answer

as:

(A) If statement I is the cause and statement II is its effect.

(B) If statement II is the cause and statement I is its effect.

(C) If both statements I and II are independent causes.

(D) If both the statements I and II are effects of independent causes.

Statements:

L. 'There has been a high increase in the incidents of atrocities
against women in the city during the past few months.

IL. The police authority has been unable to nab the culprits who are
committing crime against women.

What is missing letter?

E[]C]JO _
B|A|B
G| B|N
DB |
(A)H - (B)T ©K (D)E

In a class of 45 students, a bay is ranked 20th. When two boys joined,
his rank was dropped by one. What is his new rank from the end?
(A) 25" (B)26" . {©y2 ™ (D) 28"
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Non-verbal reasoning

1.

12.

15;

Which figure should replace the question mark?

el g ajialiulk
HE P

Ay B) © @
What would replace the question mark (?) in figure 4.

(| 2

1 2 R
(A) (B) © (D)

. What is the total number of triangle in the below grid?

&

(A)23 (B)25- (©) 27 (D) 28

. Choose the figure which is different from the rest.

AODoOA[IO
ONOA|D O|A
(A) (B) (&) (D)

Which of the following diagrams indicates the best re]atmn between
Examimation, Question and Practice?

@ @O OOO ..

(B) © (D)

1%



18.

19.

. Choose the correct water image of the given ﬁgure (X) from amongst

the four alternatives: ,

s S b I 1 B 2 B

X) @A) B) (© (D)

. Complete the figure matrix.

N\

%' 0]\ 00
N :
DN %E)@

Which three pieces below, when fitted together, will form a perfect
square? :

@W

(A) WXY (B) XYZ (C) WXY (D) WXZ
Find out the alternative figure which contains figure (X) as its part.

| &R

(C)

&&%
N

(X ) i
. Group the given fI igures into tglree classes using each figure only once.

1 2 3
LA
LI A|L
(A) 1,2,5; 2.,6,9; 4738 (B)2,34; 5.6.8; 9.1.7
(C)1,3,5; 26,8 459 (D)3.24: 65.8: 79,1

1%



Quantitative aptitude

21

22.

23,

24.

25:

What number should come next?

B6:9; 230 B e

(A) 174 (B) 226 (C) 324 . (D) 429
What number should replace the question mark?

[\

779
21\ 36

15 12

(A) 463 (B) 453 ' (C) 435 (D) 47

A student on her first 4 tests received an average score of N points. If
she exceeds her previous average score by 20 points on her fifth test.
then what is the average score for the first 5 tests?

(AAN+20 (B)N+10 (COON+4 (D)N+5

Find out the wrong number in the given sequence of numbers.
1.2,6,15.31,56.91

(A)6 (B)31- (C) 56 (D) 91

Baglung is located in Western Nepal and some Baglunge (people of
Baglung) can speak Nepali and some can speak Magar. If 70% of
Baglunge speaks Nepali and 60% of Baglunge speaks Magar, what is
the minimum percentage of Magar speaking Baglunge that also speak
Nepali? -

(A) 10% (B) 15% (CY20%, (D) 30%

26. Ten teams are participating in a National Football League. If each team

plays the other teams 2 times, the total number of games the League
will play is ......... '

(A) 45 (B) 55 1 (C) 90 (D) 100

There are 21 juice bottles out of which 7 bottles are full, 7 are half —
full and the remaining 7 are empty to be divided amongst 3 friends
equally. You don't have any measuring device. After dividing them
(both bottles and juice) equally how much empty bottles each will get?
(A)0 (B)2 ()3 (D)4

Two numbers are in the ration 5:4 and their differences is10. What is
the larger number?

(A) 30 (B) 40 (C) 50 (D) 60

A shopkeeper fills a basket with eggs in a such-way that the number of
eggs added on each successive day is the same as the number already
present in the basket. This way the basket gets completely filled in 12
days. After how many days the basket was half ( 1/2) full?

(A) 11 ' (B) 10 ()9 (D) 6



30. If the seventh day of a month is three days earlier than Friday. what day
will it be on the sixteenth day of the month?
(A) Sunday (B) Tuesday (C) Thursday (D) Friday

General mental abilit lo ical reasoning and analytical ability

31. K is heavier than N, M weighs less than N, L is heavier than M but
lighter than N. Wthh of the following statements is NOT true?
(A) K weighs more than M - (B) N weighs less than K
(C) M weighs more than K (D) M is the lightest of all

32. What is the minimum number of different colours required to paint the
figure given below such that no two adjacent regions have the same
colour?

(A)2 (B)3 4 (D)6

33. There are four houses on one side of a city street. Each house belongs
to a different person who lives in the house. The owners of the houses
are A, B. C and D. Each owns one car and the colours of these cars are
white, red, blue and green. Furthermore:
1. D owns the white car
2. B's house is not at either end of the street
3. A owns the second house from the left
4. Cowns the blue car
Which people own the red and the green cars?
(A)Band A (B)CandB (C)Dand A (D)Cand D

34. A cube has six number marked 1.2,3.4,5 and 6 on its faces. Three views
of the cube are shown below:

A MR 3

What possible numbers can exist on the two faces marked (A) and (B),
respectively on the cube?

408
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36.

(A)2and 3 (B) 6 and |
(C) land 4 (D)3 and |

_If D is the brother of B, how B is related to C? To answer this question

which of the statements is/are necessary?

I. The son of D is the grandson of C

2. B is the sister of D.

(A) Only 1 (B) Only 2

(C) Either 1 or 2 (D) 1 and 2 both are required
Consider the following figure:

3

In the above figure, triangle represents girls, the square represents
sports persons and the circle represents coaches. Which, portion in the
figure represents girls, who are sports persons, but not coaches?

(A)4 (B)2 1 (D)3

Read the following passage and answer the 3 (three) items that follow:-
In a survey regarding a proposed measure to be introduced. 2878 persons
took part of which 1652 were males, 1226 persons voted against the
proposal of which 796 were males. 1425 persons voted for the proposal, 196
females were undecided. ' '

37.

38.

39.

40.

How may females voted for the proposal?

(A) 430 (B) 600 (C) 624 (D) 640
How many males were undecided? :

(A) 31 (B) 227 (C) 426 (D) 581

How many females were not in favour of the proposal?

(A) 430 (B) 496 (C) 586 (D) 1226

Of the following statements, there are two statements both of which
cannot be true but both can be false. Which are these two statements?

1. All machines make noise. 7

2. Some machines are noisy.

3. No machine makes noise.

4. Some machines are not noisy.

(A)land2 (B)3and4 (C) 1 and 3 (D)2 and 4

i=



~Data intergfetation

The following line graph gives the ratio of the amount of imports to the

amo

unt of exports of the certain country for the period from 1995 to 2001.
Ratio of Value of Imports to Exports Over the Years

Using the above graph and answer the next 4 questions.

41.

42.

43.

45.

The imports were minimum proportionate to the exports of the Country

in the year?

(A) 1996 (B) 1997 (C) 2000 (D) 2001
What was the percentage increase inimports from 1997 to 19982
(A) 72 (B) 56

(C) 28 ¢ (D) Data inadequate

If the imports of the country in 1996 was Rs. 272 million, the exports
from the country in 1996 was?

(A) Rs. 370 million : (B) Rs. 320 million
(C) Rs. 280 million (D) Rs. 275 million
. In how many of the given years were the exports more than the
imports? :
(A) 1 year (B) 2 years (C) 3 years (D) 4 years

The imports were maximum proportionate to the exports of the Country
in the year?
(A) 1996 (B) 1997 (C) 2000 (D) 2001

1=



Study the following table and answer the questions:
Classification of 100 Students Based on the Marks Obtained by then in

Paper I and Paper I in an Examination

Marks out of 50
Subject 40and | 30and | 20and | 10and | 0and
above | above | above | above | above
Paper I 9 32 80 92 100
Paper I1 4 21 66 81 100
Average (Aggregate) 7 27 73 87 100
46. What is the different between the number of students passed with 30 as

47.

48.

49.

50.

cut-off marks in Chemistry and those passed with 30 as cut-off marks in
aggregate?

(A)3 (B) 4 - (O)5 (D)6

If at least 60% marks in Physics are required for pursuing higher studies
in Physics, how many students will be eligible to pursue higher studies
in Physics? ;

(A0 B)9 (C) 18 (D) 32

The percentage of number of students getting at least 60% marks in
Chemistry over those getting at least 40% marks in aggregate, is

approximately? -

(A) 20 % (B) 27% (C) 29% (D) 30%

The number of students scoring less than 40% marks in aggregate is?
(A)7 (B) 13 (C) 14 (D) 27

If it is known that at least 23 students were eligible for a Symposium on
Chemistry. then the minimum qualifying marks in Chemistry for
eligibility to Symposium would lie in the range?

(A) Below 20 (B) 20-30 (C) 30-40 (D) 40-45




Directions for the following 5 (Five) items: -
Study the two figures given below and answer the five items that follow :

Figure 1: Number of Professors in Selected
disciplines in a University by sex

32 1
28 4
24 -
20 4
16 +
124
8 +
4 4

0

Physics Maths Chemistry Botany Psychology Economics

|EMale H Female

Figure 2: Age of Physics Professors

]

N 35-44
0 25-34
E 60-65
H 45-59

40%

30%

51. How many Physics Professors belong to the age group 35-447

(A) 18 - (B) I6 (C) 14 (D) 12
52. Which one of the following disciplines has the highest ratio of males to
females?

(A) Physics  (B) Mathematics (C) Chemistry (D) Economics
53. What percentage of all Psychology Professors are females?
(A) 40% (B) 50% (C) 60% (D) 70%



" 54. If the number of female Physics professors in the age group 25-34 equal
25% of all the Physics Professors in that age group, then what is the
number of male Physics Professors in the age group 25-34?

(A)2 (B)3 (C)6 (D)9

55. If the Psychology professors in the University constitute 2% of all the
professors in the University, then what is the number of professors in
the University?

(A) 400 (B) 500 (C) 600 (D) 700

Directions for the following 5 (five) items:

Study the table given below and answer the five items that follow:

Four students W, X, Y, Z appeared in four papers, 1, IL III and IV in a test,
Their scores out of 100 are given below:

Papers
Stuenps 1 il T v
W 60 81 45 55
X 59 43 51 A
Y 74 A 71 65
7 72 75 A 63

where 'A' stands for absent
56. Which candidate has secured between 60-65% marks in aggregate?

(AW (B) X (Oh¢ D) Z
57. Who has obtained the lowest average in aggregate?
(A)W (B)X )Y (D) Z
58. Who has obtained the highest average in aggregate?
- (AW B)X . (S 4 D)YZ
59. In which paper the lowest marks were obtained by the candidates?
A (A1 (B)II (C) 1T (D) IV
~ 60. Which candidate has secured the highest percentage in the papers
‘ appeared?
(AW (B)X ©Y (DYZ
Part (C):
Sample Questions of English Language Competence Test
Set 1

Read the passage below and answer the questions that follows:

Passage I
Oak and Company

‘ Richard Mabey

1. If tree families had family trees the oak would have one of the oldest -

and grandest of all. There are more than 500 different species, and over

the last million years they have spread in various shapes and forms.

over most of the northern half of the earth. There are mountain oaks.

swamp oaks, evergreen oaks, weeping oaks, and oaks on windswept

cliffs that never reach more than two or three feet in height. One kind in

. . RR
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Spain has such a spongy bark that it is used to make cork. so there are
soft oaks, too. But for most of us, oak means just one kind of tree: the
tough, rugged giant that has played such a part in history and legend,
and been so important in the woodlands of Europe and North America.

.. Perhaps we have been unfair to other trees, but the forest oaks deserve

their fame. They are hardy, easy-going and not all fussy about whether
they grow. They can reach a great age—even a thousand of years, though
most are cut down long before this. Their squat trunks and twisted
branches, looking like clenched wooden muscles, can stand up to the
worst kind of weather. :

On top-of all this, timber cut from oaks is as strong and remarkable as
the trees themselves. It is solid and hard- wearing, as good for furniture
as it is for firewood. Before the days of steel and concrete it made the
frames of houses and ships. If we had to invent a new kind of timber it
would be hard to think up anything better.

Yet it isn't just humans who find oaks the most useful of trees. Over the
ages a huge number of animals and plants have learned to live off —and
in- the oaks. It is tempting to say that full-grown oak is like a house, but
it is really more like a'city- a whole community of creatures travelling,
working, eating, sleeping, singing, and bringing up young, on every
part from the topmost spring buds to the dead gash blasted out by a
lightening flash. '

Comprehension Questions: (5x1=5)

Choose the correct alternative

12

Which statement is closest to the main idea expressed in the first

paragraph? .

(A) that there are varieties of oaks

(B) that trees like oaks are family trees

(C) most people think that there is only one type of oak

(D) the best kind of oak is found in Spain

By giving example of a kind of oak found in Spain, the writer proves —

(A) there are soft oaks

(B) oaks can be useful

(C) cork manufacturing industry depends on oaks

(D) our thinking of oak as a hard wood is wrong

All the statements below are frue, except —

(A) there are varieties of oaks

(B) oaks primarily grow in Northern part of the earth

(C) oaks have muscles like human beings

(D) steel is used nowadays as building materials for which oaks were
used in the past

The sentence "If we had to invent a new kind of timber it would be hard

to think up anything better” means-

(A) We cannot invent a new kind of timber

23



(B) It is hard to think about a new timber
(C) It is hard to find a better timber than oak
(D) It's time that we better think of a new timber than oak

5. Which statement best expresses the idea expressed in paragraph 4?
(A) Animals and birds make homes in oaks
(B) Sometimes lightening strikes oaks
(C) Plants also depend on oaks
(D) Not only humans but also animals and plants find oaks useful
Vocabulary Questions: (Tx1=T)
6. The closest meaning of the word "giant” in paragraph 1 is ...........
(A) legendary huge humanlike beings :
(B) a powerful living being
(C) a being who has history and legend
(D) strong and having a great size
7. The phrase "stand up to" in paragraph 2 means ..............
(A) Standing erect
(B) Rise to a erect position
(C) Support onesel
(D) Be equally capable in strength and power
8. "Bring up” in paragraph 4 means............ Siasite
(A) Raise children or babies
(B) Bring something from another place
(C) Come closer to an object
(D) Push something to a higher plane
9. The closest opposite meaning of the word “fussy".in paragraph 2 T
(A) Selective '
(B) Choosy
(C) Hard to please
(D) Easy -going
10. Which grammar class (parts of speech) the “windswept" in paragraph |
belongs to?
(A) Noun (B) Verb
(C) Adjective (D) Compound word
Syntactic Ability Questions: (8x1=8)

Choose the correct alternative:

11.

i2.

Which sentence indicates that John earned some money?

(A) John nearly earned $100.

(B) John earned nearly $100.

(C) Bothaand b

(D) None of the above

Which sentence is best active version of the sentence "The computer
disk was damaged by electric shock™?

(A) Someone damaged the computer disk.

L



(B) The computer disk has been damages by the electric shock.
(C) The electric shock damaged the computer disk.
(D) Due to electric shock, the computer disk was damaged.
13. Which one is the correct English expression?
(A) John has been collecting stamps since 1996.
(B) John collected stamps since 1996.
(C) John had collected stamps since 1996.
(D) Since 1996, John was collecting stamps.
4. Which preposition completes the sentence "I expect a lot of guest
.......... Christmas.
(A) in (B) at (C)on (D) for
15. Which alternative completes the sentence "Last year, we visited
senvesssstenncee. St. Paul Cathedral in Vienna.
(A) that (B) the (C)a (D) none

Set 2 — Sample Questions
Read the passage below and answer the questions that follow
Passage II
Hibernation

Hibernation is one of the main adaptations that allow certain northern
animals to survive long, cold winters. Hibernations is like a very deep sleep
that allows animals to save their energy when there is little or no food
available. The body functions of ‘true hibernator' go through several changes
while they are hibernating. Body temperature drops, and the heart rate
slows. For example, a hibernating woodchuck’s body temperature drops by
more than 30 degrees Celsius, and its heart rate slows from 80 to 4 beats per
minute! Other true hibernators include the jumping mouse, little brown bat,
eastern chipmunk and several ground squirrels. Other animals, such as the
skunk and raccoon, are not considered true hibernators, as they wake up in
the winter to feed, and their body functions do not change as much. Since
they only sleep for a little bit at a time, the term dormancy or 'light sleeping’
is used to describe their behaviour. The largest animals to hibernate are
bears. Their heart rate may slow down from a usual 40-50 beats per minute
to 8-12 beats per minute, but their body temperature changes very little. so
they are able to wake up quickly.

Hibernating animals have a special substance in the blood called
hibernation inducement trigger, or HIT. This substance becomes active in
the fall, when the days become cooler and shorter. When HIT becomes
active, the animals start preparing for winter. Some animals store food so
that they can eat when they wake up and some animals eat a lot in late
summer and fall to .add excess fat to their bodies. This fat keeps them
warmer and acts as a source of energy while they are sleeping. Some
animals also make changes to the places where they will sleep (dens). They
add leaves and grasses to keep them warm.

QY



Comprehension Questions: (5x1=5)

Choose the correct alternative

15

4.

Why do animals hibernate? :

(A) Animals hibernate to survive long.

(B) Animals hibernate to adapt to the temperature.

(C) Animals hibernate to save energy during the winter when there is
little food for them to eat.

(D) Animals hibernate to take a deep uninterrupted sleep.

What changes occur in the functions of an animal's body when it

hibernates?

(A) An animal's body temperature and its heart beat rise when it is
hibernating

(B) An animal's body temperature drops and its heart beat quickens
when it is hibernating

(C) An animal’s body temperature drops and its heart beat slows when
it is hibernating.

(D) An animal's body temperature drops and its heart beat remain
constant when it is hibernating.

Why are raccoons and skunks not 'true hibernators'?

(A) Because they wake up in the winter to eat. Additionally, the
changes in the functions of their bodies aren't as great.

(B) Because they sleep for a little bit of time only

(C) Because they do not wake up in winter to feed

(D) Because they feel hungry and get only light sleep.

When does HIT become active?

(A) HIT becomes active whenever the days become cooler and shorter.

(B) HIT becomes active when the hibernating animals feel cold and are
short of food. :

(C) HIT becomes active when winter is in the full swing.

(D) HIT becomes active in the fall, when the days are shorter and the
temperature cooler.

How do animals prepare for hibernation?

(A) To prepare for hibernation, animals store food, eat a lot to add
excess fat to their bodies and add leaves and grasses to their dens to
keep them warm while they sleep.

(B) To prepare for hibernation, animals store food and gather leaves
and grasses to their dens to keep them warm while they sleep.

(C) To prepare for hibernation, animals store food and eat a lot to add
excess fat to their bodies.

(D) To prepare for hibernation, animals eat a lot to add excess fat to
their bodies and add leaves and grasses to their dens to keep them
warm while they sleep. '
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